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SECTION - A
Analytical Ability
, | gans Swgpd G
Questions : 75 Marks : 75
Ay :75 1 ardnes: 75
() Data Sufficiency (Marks : 20)
dorod Lovgad

Note: In questions numbered 1 to 20, a question is followed by data in the form of two
statemnents labelled as T and II. You must decide whether the data given in the
statements are sufficient to answer the questions. Using the data make an
appropriate choice from (1) to (4) as per the following guidelines :

(a) Mark choice (1) if the statement [ alone is sullicient to answer the question.
(b) Mark choice (2) if the statement 11 alone is sufficient to answer the question.

(c) Mark choice (3) if both the statements | and II are sufficient to answer the
question but neither statement alone is sufficient.

(d) Mark choice (4) if both the statements [ and I together are not sufficient to
answer the question and additional data is required.

ards 1 108 20 398 anys @@ [J}Jilé“m o€ %), R |Bod 1, 1l v Dl e
Joth [(ibdSares dgrotorm adgugraD. CIAT Segromd dndairiod, alye
[Rdare (D SSrerard) 2@ ol DorgErw el dor ud h
Ng0owd. & SR (08 rdius e addrnow (1) wod (4)
LXK 1B ward Lo Jong Babod.

(8) (DD Vhrerbo ad)od® PHEvo I am@D Lorgiivand b waray
(1) e h0ovod.

(b) [PHD Srene adlyodhsd @odeo I G| mu'gf.j&nmﬂ oD EaETraD
(2) m 8o S0d.

() | Wregrno athokd Ghdsrew L 11 Sui ‘?'..:ﬂ"gf_{i:m:.:- wothe®
D a8 &rge Dovgho seEIE & maren (3) m B0 S0d.

@) DS BEreso adyom® ©hSe 1 I §o brar Longlo 5
wiing Sero%o sahEtoond ab e (4) m hiodold
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1.  What is the positive integer n not exceeding 180 7
180 & shoddn) & ‘a'grg*:::rﬁ{:a n 8 ?
I.  nisdivisible by 7.
73 n grRobudhdod.
II. nisdivisible by 13.
13 & narfcladdod.

2. If ABCD is a square and E is a point on BC, then what is the area (in square units) of AECD ?
ABCD ﬁﬁéﬁﬁ[{-ﬁw. BCEELEM umﬂﬂﬁﬂ_@ragu{%dﬁn‘%ﬁﬂﬁnéw

L. BE = & :
1. BE:EC=1:2

3.  What is the shape of the play ground ?
wd Yoy uso oabdy ?

I.  The perimeter of the play ground is 440 m
8 ob Poly Dy Fod 440 .

1.  The area of the ground is 154(0) sq. m.
¥ YU 3Tego 15400 S,

4.  What is the remainder when n is divided by 8 ?
n:ﬁﬂ-ﬂwnaﬁm‘bﬁ‘)ﬁ]u o 7

1. The digit in units place of n is 8.
n olo&y, .80 iﬂbﬂd"ﬂ wos 8,

1. nis the product of eight consecutive positive integers.

N St cllabd B8 Sn Yrgrosy ego.

§,  What is the greatest common divisor of numbers aand b 7
Ropges a, b & HOY Shrdg gra¥o I8 7

.  The least common multiple of a and b is ab.
a,b & £330 Srarvng theleo ab.
II. atb=15.

6. What is the average ofa,b,cand 57
a, b, c 5o ol Jod ?

. S(a+b+c)+4=45
II. a+b=c+d

x?
7.  What is the value of F+§ 7

Ez et b

X I ’ E

1. (;+IJ = 1({)
II. x=2z

P.T.0.
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8. Is xy<07

xy < 0 esyyedoce ?

L Ski+3ly/=0

IL Skl = 3yl

9,  How much time did A take to reach the destination 7
Hingo SE&rAS A %N Wdbo Jod 7

I The ratio between the speeds of A and Bis 3 : 4.
A,Bhimu&ﬁg%gl:i

II. B takes 36 minutes to rcach the same destination. *
&3 fhgo D08 BE 36 Dtodres Hbdbod

10. What is the slope of straight line 7

LT aren ok ?

.. The straight line passes through the origin.
& WO arefoddy) o o,

1.  The straight line makes an angle 30% with the positive direction of the X-axis.
& LE¢Tp N-elly 55 H4E 30° Eoo Slpod.

. -5 20
11. Inthe matrix A = 3

@K A -[ R4y

1. Als f.ingulﬂr.

A wrordno,
II. A 1s symmetric.
A o
12. - What is the valueofa+b ?
a+b aJedw Jod 7
l. azh
1. af-b¥=a-b
13. Is the quadrilateral a square ?
L dé.:ﬁ:amﬂ SO 7
I.  All the sides of the quadrilateral are of equal length.
T ﬁéaﬁ:aa::'a @) gherren W Sy 5O damaw.
II.  The diagonals of the quadrilateral are of equal length,
& ﬁ&&aaﬁa SEgY PERPLL W0,
14. For positive integers x, y and z, is the product xyz even ?
qi“b‘a'a‘?usﬂ'm X, v,z v ol ugé;ux}rz‘:.lﬂ ‘i:ruq.'ﬂg ? |
I X+ vyis odd. w i1y
x+yEN wowse
I x+y+zisdivisible by 7.
78 x+y+z grhodudhéod.

] . What i35 the value of x ?

} & x Dedw Jod ?
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15.

16.

17.

19,

20.

What is the monthly salary of A ?
A Jo ddo Joid 7

1. A gets 15% more than B and B gets 10% less than C.
B 0B A 815% JEJE,.'?-'-:I-. C 0B B 8 10% ﬁﬁ:ﬁ_ﬁ: éww‘i@*m

II. C’s monthly salary is ¥ 2,500,
C Bes Sebo T 2,500,

Among the real numbers a and b, is b a rational number ?

Jvgn wowges a, b et b edddad "J.:nﬂq.lg wibogr ?

I a + b 15 a rational number.
a+hba¥ efddab nogg.

Il. a — b is a rational number.

a~b 2.5 e¥8dab Doy

How many persons are there in the library 7

¢ [fogrochod’ Qo8 Wod Hehes aamh

[.  If 3 persons leave the library, then the library has less than 8 persons,

Soihth dgthes [Hogrecho wod I0)E 0¥ d 8 EoB Sknd Lod HgHeotrd.

1. It 3 persons cnter the library, then it has more than 12 persons.

‘imi;li:ﬁ:%_.ﬁm (Hogredbod®s Eﬂaﬂ @80 12 5vod 0B oy » wod wgheotrd,

In the figure given helow, what is the value of e + f +y+ & 7
B0l D008 o+ P+ Y+ 5 Jeod dod ?

. oa+p =y+d
[l. 6+d=90°
Howmuchis(x+v) :(x—v)?
(x+y):(x=y)dod?
. x:y=3:2
I. x>0,y>0
If p(x) is a polynomial, is (x — 2) a factor of p{2x* = 1) 7
plx) 2% 2frdhd soand p(2l-1) & (r-2) scderoir ?
L. x -1 is a factor of p(x).
plx) 8 (x-1) &.5 s~Smo80.

II.  x-71s a factor of p(x).
p(x) & (x - 7) .8 s~Zem0 0.

P.T.O.
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(if) Problem Solving (Marks : 55)
‘.f.‘-‘.fm.ﬁ'-g bl

(a) Sequences and Series (Marks : 25)
W EST, Fiee |

Note : In each of the questions numbered 21 1w 30 a sequence of numbers and letters that

follow a definite pattern is given. Fach yuestion has a blank space. This blank space
is 10 be filled by the correct answer from one of the four given options to complete
the sequence without breaking the pattern.

st PR 21 wod 30 B85 Ko (DB A alys Dowges MR, vores md
WE [FRREDS Jabhrd) Sdamian. (D8 RHSER &) o b adys swib
PRYSY Wed W vard wows eiydh JabirlE dofo Huoge

r

ar0odiod,
2. 7:49:: Lk -
(1) 5 (2) 6 3) 9 (4) 11
22. Bl:e4:: 9 ]
(1) 16 (2) 18 (3) 24 (4) 34
23. AEF:Bl:: : OUV
(1) NOPp (2) MPQ (3) NOQ (4) NOR
24. DRIVE:EIDRV :: BEGUM: |
{1) BGMEU (2) MGBEU (3} UEBGM {(4) BGOMUE
25. Ex1:5%x9:: :iﬁxll
() LxK (2) KxL 3) OxU 4) UxO
26. ANT:CPV:: s DQZ
(1) BOX {2} BRB (1) FSB (4) FIB
17. BCEH, . DGKP, EINT
(1) CDIG {(2) CEIK - (3) CFIM {(4) CEHL
28. K11 M, OISLEITG '
(1) 113K (2) 114) (3) 1121 @ 113M
29. HOSPITAL : PATIENTS : : SCHOOL :
eanna)® : Bbes L e
(1) TEACHERS (2) CLASS ROOMS
dargrpaives SEH8 Hdbeo
(3) STUDENTS (4) BLACK BOARDS
Drpihes Y Wue
F

30. Ifthe letters D and E are removed from the English alphabet, then ]ti.f,-' [l':Ji:l:lh lerter is
zofiin e¥dire 2od D, E ol vicud FUiy slpd aentld wio

(1 F (2) € (3) G (4) H
6
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Note : In questions 31 to 35 pick the odd thing out :
o @ 31 od 35 8% e @ﬁnﬁ‘ OB BBoNed.

L (1) 147 (2) 125 (3) 103 (4) 84
A2 (1 (3.4 5) (2) (5,12,13) (3 (6,8, 10) (4 (10,12, 15)
33. (1) Apnl (2) May (3) November (4) September
Jipcbed D wHonth gonth
. (1Y 19115 (2) 13/11 (3) 7/5 (4) 3.’2
5. (1) C4E {2) G8I (3) LISN 4y T21V
Note : Fach of the questions from 36 to 45 follow a definite pattern. Observe the same and
fill in the blanks with suitable answers.
ASong 1 36 ol 45 DU e (DR 28 pHddn Dabtrdy Sdparyon. o ddbinrdy
o) Wodn gl gty Yroodod.
36 1113125, 1425, 200,250
4 2 3
(1) l-:infnE (2) 1785 (3) 1815 4) 1925
AT, 0.2, 3.5 8, 10, 15, .24, 26, 35
(1 19 2) 18 (3) 17 (4) 16
I A A I N A [ I T |
B ey AN BRI (2T — 7
1 | 1
39, 5,11,21,43, 8BS, .
(1 181 (2) 180 (3 171 @) 170
40. 75, 105, 165, 195, . 285
{1y 255 {2) 235 (3) 225 (4) 215
315 913 27
41! ﬁb';l. 'Ia_l'l L] |33 W
1 17 15 21
42, (1,Z)(8,Y) (27, X), (125, W), .
(1 (243, U) (2) (243,V) (3) (343 V) (4) (343, 1)
43. AElL CUK, U0, IMOQ)
(1) EIN (2) ENJ (3) EIM (@) EMI
44, If{a,}" issuchthata = a,=landa =a +a,+......+3 _,forkz3, thena,=
-Iﬂ,.}:_. wdd a, = a;=1,k238a,=a +a,+ ... +a _, wddpinod ey a, =
(n 16 (2) 32 M) 64 4) 128
45, The n™ term in the sequence
1,-2,3,-4,5,-6,7,-8,. .,is
w(%wo 1,-2,3,-4,5,-6,7,- LS nHso
(1) (=1¥n (2) —-n (3) n )] [—n"*‘-_n

7
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(b) dD;.a :EI%}'::: (Marks : 10)

Note:  An automobile company produces four types of vehicles (Cars, Motor bikes, Scooters
and Mopeds) at different branches in the country. The production at these vnits from
tlal::il? to 2012 are given in the table below. Answer the questions 46 to 48 using the

#I

thoong : a4 uﬁ‘m:r._iﬁ' 50w aewdh Ysve .-.:r-“-:'a‘-.af (578, el 9w, b,
Srd) dHEwE" DS [@rodod® datrbdipod. 2007 2od 2012 HE% u Lo
Saird Jhorew (B0d Difss AT, 'R WEEOM 46 Wod 48 HED [DhHub

2RIy Eb‘-"mg.
2007 | 2008 | 2009 | 2010 | 2011 | 2012
Cars
- 3600 | 6300 | B100 | 10800 | 16200 | 19800
Motor bikes |
I Poep | 7000 | 12250 | 15750 | 21000 | 31500 | 38500
Scooters _
£ ot 000 | 14000 | 18000 | 24000 | 36000 | 44000
Mopeds ' -
I 9000 | 15750 | 20250 | 27000 | 40500 | 49500
46, :rh:ﬂﬁi? of the number of Cars produced in 2008 10 the number of Scooters produced
in 15
2008 Scirgn s*d Dowg, 2011 &* Sairgs fam oY Lopgkr MyyA
(1) 37:40 (2) 27:40
(3) 17:40 (4) 7:40

47.  In which year the total number of the four types of vehicles produced was 62 100 7
» Lod8)Tos! Sargh Treth sy avirare o wog 62100 7
(1) 2007 (2) 2008
(3) 2000 (4) 2010

48. Ifk: 1 is the ratio of the number of Scooters produced in the 2011
Scooters produced in 2007, then k = ’ B S
2011 &° EabrF 2,08 Rowg, 2007 &* SatrFh Loy opg k 1 1N @08

wapih k=

(1) 3 (2) 4
0 ;

3 3 @ &
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Note : The expenditure under six heads A, B, C, D, E and F in an year are as given in the

following Pic diagram. Answer the questions 49-53 using the diagram.

#5008« 28 Lob#yBos® A, B, C, D, E, F o3 sored ed)w (8od alys W' (Pie)

4 p‘l

sl.

Si.

Dood® abeugran. & Dho wgrdorm 49 wod 53 S5 fe [hoD aarwlang.

If the total expenditure in an year is ¥ 54,00,000, then the expenditure (in rupees) under
the head E in that vear 15

X Eﬂ‘bﬁ_‘ﬁﬂﬁ‘ ado wiy T 54,00,000, wond w "bl::‘éé&{imﬂ" wodo E 2 gy
(Erarabgh

(1) 3.60,000 (2) 420000 (3)  6,30,000 {(4) 7.20,000

If the expenditure under the heads A and B together 1s 7 18,00,000 in an year, then the
expenditure under the head D in that year s
A, B & oo JodolTh a¥ Lobsydod® ey T 18,00,000, wand o Hobdybod®

- D w3 modod piiy

(1) T420000 (2) T480,000 (3) 7550000 (4 7850000

If the difference in the expenditure under the heads A and B in an year is ¥ 2.5 lakhs, then
the total expenditure (in lakhs of rupeer) in that year is i

w8 Rohdybod' vorw A, B v pinyed’ o 725 008 o LobdySod® Endo
pi) (VEY Srarade’) |

(1) 90 ‘(2 81 (3) 72 (4) 63

If the expenditure under the head E in an year 1s ¥ 3.5 lakhs, then the expenditure (in lakhs
of rupees) under the head L in that year is

2 Lobdy8od® wodo E P wi) 73.5 88 v oddlod” wo¥o D B pily) (viv

Erarabgh
(1) 3 (2) 3.5 {3y 4 4y 4.5
In any year the expenditure under the heads C and F together is equal to
) Dob#Bod B worw C, F o piy) Sedond = )
(1)  half of the expenditure on B and F together.
B, F somred piyd® dilo.
(2) double the cxpenditure on C.
wo¥o C w wi)ys Odox).
(3) the expenditure on D and E.
wowres D, F o piiyy,
(4) the expenditure on A.
@0¥0 AW wd)

1] I.-T-lul-

sl J

— g - p——
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MNote : Giventhat A= {n:nprime. 1=n<20)
B=in:nodd, l=nz<0}

and C = {n: nsquare, 1<n <20}

Using this answer the questions 54 and 55.

il - A= {n:n@x;‘ﬁ:i}nqjs, 1<n <20}
={n:ndvyopg,  1Sn=<20]
C={n:naf vowg, 1=n=<20}

8 aR@NoW 54 w0l 55 [DH LD eawdiy,

54. BnC-=
(M {1,4,9,16) () {1,3,5,7,9,11,13,15,17, 19}
(3) ¢ | 4y {1,9}

35,  The number of integers between | and 20 whichdonot licin A B W Cas
‘AUBULC & Bhoar dod 1 Rod 20 H8% Ko Lrgrose Logy

(1y 8 2) 7 (3) 6 4 5 .
(¢) Coding and Decoding Problems (Marks : 10)
: Uﬁgﬂ- g*auh eﬁlﬁgm
Hnte. The letters A, B, C , Z of English alphabet are numhﬂ;fd 1. 2, 3....... 26

respantwnly A code is deﬂgnad by shifting r letter to (14 — )" letter if | <rel3
and " letter to (40 — 5)™ letter if 14 < s € 26. The reverse process is used for
decoding. Using this answer questions 56-60 given below.,

HRE ;. mofiy wiSEred™ eforw A, B, C......, Z & DO 1, 2, 3., 26 T
8o, drroliolh X B'ES* 1 Sr< 1) vand rHe¥od) (14-reffom
wv, 14 <5 5 26, sand s D o¥ord) (40 - 5) D sffort oo OO D' L8
wnd@eNod) & 86 B A2 ueron 56-60 2% e [ e sarenling.

86. The code word for HYDERABAD 15
“HYDERABAD" & 8% Dic

{1y FQJIVMLMJ) (2) FIOIVMIML (3) FUOVMLM) {4y FIOJMVLMI
87. The code word for WARANGAL is
“WARANGAL" & 8 o

(1) OMUMZBGM (2) QMVMZGMB(3) QVMZMBGM (4) QVMZIMGBM
£8. Which word 15 coded as IPKFMZGI ?

IPKFMZGI m 5°8 wowd s ?

(1) ENTRANCE (2) ELEGANCE (3) EXCHANGE (4) EMPATHIE

59. Which word is coded as UIBIKTEYZ ?
UIRIKTEYZ rr £'8 cscaid De5ahdy 7

(1) SEDUCTION (2) SELECTION (3) SUGGESTED A& (4) :SHOCKINGS
60, The code word for TIRUPATI is

TIRUPATI & E°8 O
(1) TEMXVSTE (2) TESVXMTE (3) TESVMXTE (4) TEVSXMTE
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61.

6.

65.

(d)

66,

67.

68.

If TEACHER is coded as UFBDIFS, then the code word for PARENT 1%
TEACHER 55 w0 UFBDIFS, sond PARENT & 8 2o

(1Y QSBOFU (2) QBSFOU (3) RBSENU (4) ORAESU
If BOMBAY is coded as OBZONL, then the code for DELHI is

BOMBAY & E°8 Lo OBZONL, wcnd® DELHI & &4 2xio

(1) QRYVU (2) QYRUV (3) ORYUV (4) ROQYUV

If COMMERCE is coded as DONNESDE, then the code for BIOLOGY is
COMMERCE 7 DONNESDE r~ &8 3% »d 86 &° BIOLOGY & €6

(1) CIJPMPHZ (2) CIOMOHZ (3) CIOOMHZ (4) CIOMOZH
If FAILURE is coded as EZHKTQD, then the code for SUCCESS is

FAILURE & EZHKTOD &8 184w wopd SUCCESS & §4 2xfaw

(1) RSDDFRR (2} RTDDFRR (3) RTBBDRR (4) RTCERDR
If TRIANGLE is coded as USJBOHMF, then the code word for SQUARE is
TRIANGLE 2 USJBOHMF i §°G T3, wipch SQUARE 8 §'4 Dt

(1) ‘TRUBSF (2) TRVSBF (3) TRUSBF (4 TRVBSF

Date, Time & Arrangement Problems : (Marks : 10)
B8, Shobo, wdudde ﬁiﬂ:ﬁ:ﬂ

If 26™ January of a non-leap year falls on a Sunday, the day on which 15" August of that
ear falls is
%"g Roadydo s ek ﬁba‘&:ﬁ;}ﬁnﬁ‘ 26 mhH0 wbado swd, od wondydo
15 uﬁ‘*-_.‘ua i T.’}ZE;, o
(1) Sunday (2) Wednesday (3) Triday (4) Saturday
wfardo andiardo BHEaSo Feam 00

What is the angle between the two hands of a clock when the ime s 5.13 am. 7
atSado § Ka. 15 D Lhedbod® a8 KEArToS N Tod nee gy E'mo Jod ?

(1) 72° (2) 67A° (3) 64° (4) 38W%°
A clock strikes once at 1 O'clock, twice at 2 O'clock and so on. The total number of

strikes it makes in a day 15
2% Kacdirdo 1 Hob% asir0, 2 fobed Jod &, ... e Hobes Edhibod. ol

Ferd® o Haardo £F rove Dowg

(1) 78 (2) 112 (3) 132 ) 156

D is the only son of his father C. A is B's brother and B is C’s sister. How is D related to A 7

D i 58 wd Sojd C & 243 Lhrdh A o3 553 B 8 TEHD, BoS B C

280, wuplth A& D & He Dowodo a8 7

(1) Sister (2) Brother = (3) Nicce (4) Brother's son
40 RS ol Snsdes MG dn Y

11 P.T.0.
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70. A meeting is scheduled at 11.00 am for which a person P who is away at 100 kms from
the venuc has to attend. If P starts at 945 am. in a car which moves with a speed of
60 kmph. then the P is late to the meeting by how many minutes ?

addbo 11.00 fobedH JoBs 28 Wrdnls, o WErdd PO Dod 100 8.h.
Grdod® af) 958 P Hath s'od. adabo 9.45 Howe® ucbesdd Mo 60 5.5,
Siio¥ 3¥) s the® vl w UhrFrdE o), Fwires vedgom dherd ?

(1Y 5 (2) 15 (3) 25 (4) 35

T1.  Ift; is the time elapsed between 11.10 am to 3.50 pm: and if't, is the time elapsed between
10.15 am to 4.05 pm, then t, : t, =
dddbo 11.10 fiobe od Ardbojo 3.50 dobe HEH MDD Wabo 1,: dSabo
10.15 fobe food Srdboj#o 4.05 Hobe H8H Hawh Dabo ty, wopd A
(1Y 5:4 (2) 2:3 (3) 4:5 (4) 3:2

72. A,B,C,Dand E sit around a table such that A is between B and C and is left to B; Dis o
the right of B; and E is between C and D. Then the person to the immediate left of C is
A, B, C,D, E 28 g i £ra)ao. 20¢° B, C o hdigm dote B 8 X (08

Aaayd; B & 04 28 D; C, D o 0§ E damth. ey C & d¥n b (5
%) 558 |

(1) D () B (3) A (4) F

: a? + b2 a?
73. Giventhatash= ab unﬂuﬂh=Ft‘manyr¢alnumbersnmdh.

Ifxsy=2A2 thenx =

2 2 2
:}i}‘“__hiﬁ:”bﬂﬁlgua.bbﬁﬂ‘arh' L‘E%Lraﬁb-%uﬁamaﬂ.}_

rey=2A2 wopd x=

(1) v (2) %
(3) 2y 4 35

74.  For real numbers a and b, if ach = (ab)'’, then (243) o (16807) =
S Doggen a, b o avh = (ab) ¥, wcnd elrpd (243) ¢ (16807) =

(1 3 (2) 29 (3) 22 4) 21

75. Ifaeb=(a+b-12-1then(leNe(Bal)-
awb={a+b=-1P2-l,vad(le)a(3ai)=

(1) 376, (2) 623 _A3) 675 (4) 676

12



1-":!-._..-'

WWW.previouspapers.in

ISRW-13 A
SECTION - B
Mathematical Ability
fefd #ﬁ:n’a&i
L

Questions : 75 Marks : 75
vyew : 75 Sr et 78
(iY Arithmetical Ability (Marks : 35)

wobhicla a":bg'gﬁ

e - | —— | % ——
e | ¥ -y —] -2 — Y-

76. [a""J f "’] [a *] -

(1) a {2y © (3) xvyz 4y 1

. 223
3 625) * -
77. If[’\f;] '[ 8 ] thena =
2

NoENZ e

(1y 2 (2) 1 (3 -1 (4 -2
78. In a mixture of 35 litres the ratio of milk and water is 4 : 1. If one litre of water is added 10

80.

the mixture the ratio of milk and water in the new mixture is
35 Hbd Dpfivod® dves, ¢ 41 1 WNES diaman € DFErDE o8 Db
£hnd Eﬁ;}ﬁ & Dpiod® e, hfa a8

(1y 2:7 2y 7:2 (3) 4:3 [.4} 2:1

The salanes of two persons are in the ratio 4 : 7. Both spend 8074 of their salaries and save
the rest. The ratio of their savings is

sl Hpho Fsorw 41 7 WPBS damaw. &0 IS’ aFdr 80% winEv
Diferd Ol D, 8 PSP IV oo KB

1y 8:2 2y 7:5 (3) 5:3 (4 4:7
238 -2
lf(ﬁ)x+5-(ﬁ)  then a value of (3% - 1) is
5 -2
{"uﬁ}x+ =(iﬁ)lg ool (¥ -1) 8 o8 Duwd
1y 2 {2) 4 (3) © (4) 8

12 P.T.0,
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81 [\10+ 236 + 210 + 2315 + 10— 26 - 210 + 2y15| =

M 2GBE) 2) 23
(3) 23 (4 210

#2. The least value of k such that 315 = k is a perfect square is
315 * k bogprd bfo edb o ol k £ Deon

(1y 35 (2) 31
(3) 21 (4} 15

83. Which among the following numbers leaves remainders 1, 2 and 2 respectively when
divided by 2, 3 and 72

& (200 Dopped® 2D 2,3, 7 o grnT HHHM 1, 2, 2 & Flomr ‘-"@'&Ii("u:
1y 130 (2) 68
(3) 65 (4) 57

¥4. The L.C.M. of two intcgers is 144 and their G.C.D is 12. If one of the integers is 36, then
the other integer is

Jod Yrgrof RDowge KD 144, o8 KAy 12, 8S" w8 Yrgro¥ ogg 36,

vowd Jodd Yrgrofo
(1) 18 (2) 24
(3) 48 (4) 432

85. The least number that is to be subtracted from 2580 so that it leaves a remainder 4 when
divided by 9, 11 and 13 1s

9,11,13 & & A% 4 Fho Hil)othS 2580 Mwod Bhilabbotis 0% Lopg

(1) 1 (2) 2
(3) 3 (4) 4

86. Three numbers are in the ratio 1 : 2 : 3 and the sum of their squares is 504. The largest of

the numbers is

awrdh opges 1:2: 3 RNBS Yol &8 Dore Wdo 504 M Pob. v Dowgedt
ﬁb‘%@ﬁ:ﬂ. s G

(1) 6 (2) 12

(3) 18 4) 24
14
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56 9
87. The am:nndmg order of the fractions : Ty ﬁ-%:s
262 11
dame T3 1T 13 @8 e (So,
36 9 11 5 9 6 11
L T (2 T8 14
311 9 6 5611 9
) TR @ Fewen

88,

90.

91.

The persons A, B, C share a property in such a way that A and B get ? - 154:1 ™ ond C

getting the rest. The person or persons who get the least property
AP BgHes A, B, € 0 28 60 A, B b Sl £ S0d = S0t DD C &

Euﬁe.urr- woih Famdh. w8 SEnS ui-..ﬂ.':rﬂij 228 Tor Heken.

(n ¢ {(2) B
(3) AandB (4) AandC
AspDoln B Awbaly C

The descending order of 410, 1‘!1-"1, \ﬁ is

410, 6.3 & ebEirem |San0

(y /10,3, 4fs @ 40463
3) 3,46, 410 @ 6. 410,43

In a face to face election the winner got 65% of votes and won by a margin of 12000
votes. The total votes polled (in lakhs) is

o8 Swgrind INEST oK m;f; 65% Lip Lodrdod 12000 bé wH¥ssE noY
dwdo Do Lo wowg (vEY

(n 4 2) 0.4

(3}  0.04 (4) 0.004

In a library 23% of the books are in Arts. 30% in Commerce, 35% in Science and the rest
are in Telugu language. If there arc 1440 books in Telugu language, the numl:-er of books
in Arts is

w8 b &0 Phsud® 23% wby, 30% swnly, 35% DIy dodm NOSY Beolh

RS damjon. Bealh gD s e opg 1440, wond ufy¢* P wowg
(1) 2760 (2) 3000
(3) 3600 (4) 4200
15 P.T.0.



